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Question Number : 1 Question Id : 7150535356 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Learning 1s
fRrpoT 318

Options :

A relatively permanent change in behaviour due to experience

ﬁ@aﬁrﬂ& GIEILEIE qmﬁﬁ FIAATTEUT Fcel

Natural unfolding of inherited tendencies

Jeqdifeleh Jaciiar At 3eErst

2 %

Same as maturation
3. %

An mnate quality

U ofeHoAld UGl
4. % “

Question Number : 2 Question Id : 7150535357 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Thinking 1= a

faaR FI0T Fgor

Options :

Physical activity

w%ﬂi’rﬁ‘csﬁh—qu

Emotional activity

wmmmwrcr

Social activity

AT ThaThelg
3. %

Cognitive activity

HACHS ShdTehelld
4.

Question Number : 3 Question Id : 7150535358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following i1s NOT correct relating to Operant Conditioning

@reierd T U 3iT9ec Hisufsni &g IeT aEr

Options :



It 1s type R conditioning

g 9P R Fisl=a g

Reinforcement comes after the act

, TR HSAGAFIT A

Behavipur 1s elicited

adUTF TIST g
3.

Response 1s voluntary

4

Question Number : 4 Question Id : 7150535359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The emotion associated with the instinct ‘escape’ is

- 9ol &g sEar 9ee g

Options :
Anger
04T

1. %

Fear
ofrar

2. %



Wonder

eI
3, %

Love

Question Number : 5 Question Id : 7150535360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following i1s an unhealthy practice of assessment

@reileTdehl Ush HedAMAdl IHEaeel 32T 3718
Options :

Continuous Comprehensive Evaluation

Hld GAHATRIF HeGATIA

Inclusion of creative work in assessment

:ﬁmﬁ Gotereiiel Fram=r gamder

Balancing cognitive, affective and conative domains

5y I, Sl 30T T S Hfeid FT

Confined to Textbook based evaluation

v qIodgEde IEd HegAgaradd Adifed



Question Number : 6 Question Id : 7150535361 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
These theories revolve around the concept of Self
¢ Mcuid Tca =ar Hehegsisiad hdrd

Options :

Personality

Aferddcd

Intelligence

e

Aptitude

BIERIT |

Interests

R

Question Number : 7 Question Id : 7150535362 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Primary motives are associated with

A goeh =erEa 3med

Options:



Sociological well being

1% THTGRITET e dToT

Psychological well being

233341?@?5&?&70?

Philosophical well being

3. % AIlcTF Sl

Biological well being

Sifas Heamor
4, &

Question Number : 8 Question Id : 7150535363 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT a criterion in insightful learning

@refterdehl Ush 3T3arEqul RIaTomEr ey A
Options :

The situation as a whole 1s perceived by the learner

90T IR RIsFom=arer @Hed

1. %

Learner judges the relationship between various factors involved in the
situation

facameit aRfErdeaed Jdciean fafaer gewidrer gaumr g™ Hdr



Making trials and correcting errors

v mmmaﬁrw

There is a sudden grasping of the solution of the problem

4w T FUROT S  9Ed

Question Number : 9 Question Id : 7150535364 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to Chomsky, Language Acquisition Device enables children to acquire
SRERTET #d, AT HUIGA A Helioll HcAId A HEH Hd

Options:

Ideas about the rules of language

| ST ARG FedE

Language consciously

zﬁmﬁa’qja?m

Difference between various languages

3ﬁﬁﬁumwmtﬁﬁm

Language equally irrespective of their neurological status

, A SPUCTieRel [Eoriens geret % dd AT
4.



Question Number : 10 Question Id : 7150535365 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a child appears taller as compared to her / his peers of same age. we tend to
compare the height of the child with that of their parents. The attempt made

here 1s to have a look into the
S TEle Aol {deacarar GAR el ARl deeid 39 G, av A
Helrea e caredr qrerhredn SERl qee #Xal. 32 qIguardT Taed sl 3e

Options:

Psychological factor

HATEET gcsh

Sociological factor

AR °9ch

Biological factor

Sifds g

Socio cultural factor

Question Number : 11 Question Id : 7150535366 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The research design to be used in a feedback study on the Effect of TV lessons on

the Performance of Grade VIII 12

AuTrdT HRARIT Tl 37T

Options:

Observation

IGEA

Introspection

HrcaTEToT

Casze study

g TTar

Experimental

QIR

Question Number : 12 Question Id : 7150535367 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘Halp effect’ in a rating scale 1s a
ST Thereed ‘gal Sthae’ FguTal
Options:

1.



Cognitive bias

Appreciation

Hide

2.% 7%

Perceptual clarity

HehelATd TseAr

Negative judgement

AFRICHS @0
4, %

Question Number : 13 Question Id : 7150535368 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Veda based on her talent 1s offered a job by one of the world's best companies.
That 15 a dream come true for her. At the same time she 1s hesitating to jomn as

she has to leave her mother alone. The conflict faced by Veda 1s

faear yfoster 3mf@ dgren sEndier wafas Suaddr tF Al 3 . §
fo=arael U T 9ol el 3. <A Ao fder fdedr JASel Uhe Hisd dnd
e o Fgdel QIUarg SOid 3ME. deT WA 3feler FuY 3

Options :
Approach — Approach

123‘{@3#?&?@3%3



Avoidance — Avoidance

5 % CIDuT - Tol

Approach — Avoidance

3 ESCIPI - T

Avoidance — Approach

TIDYT - TSCIhieT
4, %

Question Number : 14 Question Id : 7150535369 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the following categories, identify the persons who possess IQ less than 70
@reitel AVITAL, 70 et HT [Q 3qeled sgadiidl 3lo@ Jedl
Options :
Mentally retarded

Af#g

1.9

Delinquents

2. % S!IIEJI

Learning disabled

3 % F3lehoT 3161

4. %



Truants

Question Number : 15 Question Id : 7150535370 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In planning a lesson, decision of deciding the TLM to be used takes place during

this phase of teaching

o5 foiaielet admer, Risauarear ar eowarg TLM arRudran @y gder sar
Options :

Inter-active

gl

Post active

g2 giehd

Sub-active

39-gihg

Pre—active

od-afha

Question Number : 16 Question Id : 7150535371 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Dominant style of leadership among the following

@reflerdshl 9@ sAccardr Aelr
Options :

Permissive leadership

|« TRAEEN QU e

Autocratic leadership

fereper Aiged

2. %

Laisezz—faire leadership

- IEEdEIT AAdcd

Democratic leadership

eIl Adca

4, =

Question Number : 17 Question Id : 7150535372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the WRONG pair

T SIST 3
Options:
Erickson - Psycho-social development Theory

TR - GRS deE beuid



Kohler - Insight Theory

i Flger - Jdesl Teid

2.
Skinner - Operant Conditioning Theory
- el - 3t SHisefar Ry

Kohlberg - Information Processing Theory

4.¢m—ﬂmmﬁaﬂ1ﬁ

Question Number : 18 Question Id : 7150535373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

When there 15 high similarity between two learning situations, the probability 1s

high for this type of transfer of learning

SiegT o RIevarear 9l 3oa g 3rad, degl a1 YR RIgTomr
FEATaOTTT EdT S 3Ed

Options :

Definitely negative

1@%1%%@3?@%

Definitely positive

5  HRTaUuT EHRIcHS

Either Positive or negative

3 % Uehd{ HbHIcHS Tehdl dAhHIcHS



Neither positive nor negative

4 % QENICHS dl FRRICHS HATel

Question Number : 19 Question Id : 7150535374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The NCF 2005 recommended making the curriculum flexible and appropriate to

accommodate the diversity of school children including those with disabilities in
NCF 2005 = Sierg Heiredr fafdeder Sarde Soarrsr Jeargsh oatde for
AT FeIguardr fEPRE dell e

Options :

only cognitive areas

chdm GACHS &1

both cognitive and non-cognitive areas

5 GacHs 30T I-gaAecHF giegr a3

only non-cognitive areas

Fdd IT-TAGCHF &1

either cognitive or non-cognitive areas

4w Ushdd HAWICHS fohar d-TAEICHS &3



Question Number : 20 Question Id : 7150535375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In the motivational cycle, the starting point is the birth of a

W T, IR fdg g1 °r oied 3718
Options :

Need

1.4

Satisfaction

2. % THIEE

Reinforcer

:Hag?rmtrnif
3, %

Incentive

JicHTge

Question Number : 21 Question Id : 7150535376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Erikson’s period of ‘identity Ve role confusion’ covers this stage of development

of an individual

UReFeTar HESfedt favey Ul FeiIsieT g7 Ficd TWIeT edFciied [T g1 el
Sar



Options :

Childhood

1, % "SRR

Infancy

Te-ATdET
2. ®

Adulthood

3_wsﬁaﬁ'

Adolescence

4.%”%&

Question Number : 22 Question Id : 7150535377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an attribute of a good facilitator

Wikl U § Ul Tl hidfeiceyd J[OTerT Al
Options:

Knowledge of the learning styles

elrvar=ar e e

1. %

Skill of observation

 [AdEToT FiRea
2. %



Discouraging attitude

foarer FIoTdT aer
3.¢¥ gz

Quality of Empathy

433 o B

Question Number : 23 Question Id : 7150535378 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Piaget has highlighted the role of the following factors in one’s cognitive make-

up and its functioning

el = vEncddr SAECHS e 0T o dredr FAHe] @rellel e fAd
3RINTE hell 3¢

Options:

Biological inheritance, maturation and experience

1Jcﬁﬁ$m,crﬁmaraaﬁaaﬁﬂaﬂ

Only biological inheritance

, x A0 Sl arE

Only maturation

323%?'#1@331

Only experience

Tkl 3eTeTd
4. % -



Question Number : 24 Question Id : 7150535379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A teacher asked a child ‘if I give you 4 chocolates and your friend 3 chocolates
each, what 1s the total number of chocolates given to you'. The child wrote down
4 and 3 and said 7. The stage of cognitive development of the child according to

Bruner 1z

Tl fRIfEihd UT Hofrer faarel, S A el 4 <iehele 30T dgr fAErer 93 3
Tidhelc fGel X qel U] ferclT diepeic feel”. Hetet 4 30T 3 ﬁl@ﬁ?‘fﬂﬂﬁ?
HfdIcTer. §eRedl A Heredl HaAlAlcAT faehrardr eodr 3g

Options:

Iconic representation stage

12331133#%&?9%%@&'1%3

Svmbolic representation stage

2 o qalehlcH® Yidieiiticd ool

Enactive representation stage

"ira gidfefeca w&or
3. %
Sensory motor stage
HACT Alet &
4. %

Question Number : 25 Question Id : 7150535380 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
As per the norms and standards given in the schedule to the RTE Act, 2009,

schools should have all weather building consisting of various facilities among

which one of the following 15 NOT mentioned

RTE @mel, 2009 =47 dodahid feeiedn ey 3101 Aeaian, oA e
Qe IFd garAE SART M ST Wielledsl ThrT el el g,

Options :

At least One class room for every teacher and an office-cum-store-cum-

head teacher's room

gcdeh RIGTRETST fhATeT Ueh @dl @iell 3101 SRielid-Hg-Gahlel-ag-Hed

- fRrETeRTeT @rell
Safe and adequate drinking water facility to all children
| HellAT JIRT 0T gem faudrean qoarr giger
2. % ¥ N
Laboratories for Science, Math. Social and Languages
3.
Separate toilets for girls and boys
Hell 30T HelTETsr Fdq TEeadlie
4, %

Question Number : 26 Question Id : 7150535381 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The abnormalities of this gland usually lead to extremely shortness or tallness in
people
T e T AT A 3Tcdd egleqon fShdl STqUT .

Options :

Pituitary

THOegedl

1.¢ oo

Thyroid
A SS

Thymus

AMAHA

Adrenal

R ICGEED

4, % )

Question Number : 27 Question Id : 7150535382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

According to Kohlberg, during this stage the child’s moral judgement 1s based on

the desire to obtain approval of others.

PlgerEedl Hdl, AT T Helrdl slicsh [01d SoiidT Hiwdar FHsfavaraar soday
ST 3T,

Options :



Stage I

cogr |

Smge 11

coar 11

Stage III

cogr 111

Stnge V

4 % it | Y

Question Number : 28 Question Id : 7150535383 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An individual behaving like an infant to cope with stressful situations indicates

this defense mechanism
donaqet aRTEIAET dis Suarare! el Aoy areondl el g Feor JAom
g

Options :

Regression

PIGEIEC]

1. %



Rationalization

2.%@%#@-3E

Projection

 Qloieere
3, %

Repression

4, % GSTR

Question Number : 29 Question Id : 7150535384 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The process of gradual disappearance of the conditioned response is known as

| YiAHIGTET goge A4 BIUArd Yiehdl FgUE Slio@ed id

Options:

Extinetion

ERIEG]

1.4

SPD nranegus recovery

2. ®

Stimulus generalization

3 % Idolsh THEARTOT



Stimulus diserimination

3ol HeHd

Question Number : 30 Question Id : 7150535385 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
This type of institutions create a positive attitude among students towards
diversity

T T WA fAegreieed fafaudss GhricAs Tseinle Haor giar

Options :

inclusive schools

TaOAGR Aol

linguistic minority institutions

religious based institutions

5 x U TR e
special schools
fera <mer

4. %

Language I Marathi
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Sub questions

Question Number : 31 Question Id : 7150535387 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T Ffadd PIUTAT A=l ca%Fd STTolel 387
Options :

- QAT AgHT dod er@uardr AdeT

3T efl FHomel ase day oq A
2. %

- 3ol & a9 T 9T S & gar sAdrardr

4 SAUAT ATV a0l ardl, JUIhRIT AT S



Question Number : 32 Question Id : 7150535388 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ST °ET Belel 3Tl Al HI I

Options :

| T T A

- =T IR Sloatl eardr

5 o N aE Pel Tl

ATl SRICTel FelrdT TITer 47T

4. %

Question Number : 33 Question Id : 7150535389 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
faddiel “AHAT g T 37 FI?

Options :

1_%5

HATdT HISIUT



AT AVTET ST

g9 99 Awauil ged

Question Number : 34 Question Id : 7150535390 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
HIAT S Sed Hebel' AT NI el HIUMhS elGer Hd 3g?

Options :

m?ﬁ?]a?maﬂmmifm

1. %

AT A HIUMT AR

fadesTaeeld SEIOTRT AvT™
3. ¢

4 % STEEHH FURT ATD

Question Number : 35 Question Id : 7150535391 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Options :



gy 39 AH

’|_ E
A9 AT HAOTH
2' w Ty, e Oy,
3 % SAU=T FH @O e
HeATAT ATGIOT Hclell edeal
4.«
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el F#in 36 o 40 Tt IaY @relr fEeledn SaRarear 3N ey T feage fefgr:
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Sub questions

Question Number : 36 Question Id : 7150535393 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options:

argel Hd



g7 3Ede a2 S

Question Number : 37 Question Id : 7150535394 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
qiaTer araield @leilerdeh! ot faRivuT 3aRarg el =gr?

Options :

Saellell

Question Number : 38 Question Id : 7150535395 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Options:

- P .



addE el
3. %

G FaTi=T

Question Number : 39 Question Id : 7150535396 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
AT AT HITT e §HYSF fGHa?

Options :

geT 3T W diadr

1.4

RIRIE D e | A

Sraemd gedr

fafaer & gt

Question Number : 40 Question Id : 7150535397 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

AT IATATT elleTdh! FIOTAT ATNC/FFOIAT 3R arsF 3iTeldd 37e

Options:

FaT A AGE dlg A6 dElel 919

1. %

5 SiaaReEra s

g6 3R Hel
3. %

olehl dleh geb orar
4, ® -
Sub-Section Number : 3
Sub-Section Id : 715053268
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 41 Question Id : 7150535398 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
3UHY § S 3UAT 3¢ 34 o afvfelel 3Ed O SRTUT IvTCAT NI 3g?

Options:

Bt fal]

1.4

2, % 94



Question Number : 42 Question Id : 7150535399 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Sl YEEI 9 qﬂﬁﬂmﬁm IGEE]

Options :

cITlel IgT Edell

v 9aTH gl Hdl

qeoilel JHT Fgeol

giddre JEsaT "iden

Question Number : 43 Question Id : 7150535400 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
‘HeAdhdsl AT 2Asgrar 7Y FguTal —--

Options :
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Question Number : 44 Question Id : 7150535401 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
a1 IO WA @relerd Tl T 3Tgd?

Options :

- IEFMEGEHER

5 @ . 9icid

wmlﬂﬁﬂ?ﬂﬁ'{

3.

AT O
4, %



Question Number : 45 Question Id : 7150535402 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
TH VRN ISHY AT 3T Afgelel Alcad HIvT?

Options :

'I.***‘-’*];FFr

Question Number : 46 Question Id : 7150535403 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TRIEToT FguTer @=r A —

Options :

| w I SR FITCT YT

- qylald S8 JcoT glol

- Sideld $9Y 4AT FHAGUATH I Ao



4o fafaer sl AcHET HLor

Question Number : 47 Question Id : 7150535404 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HRIIHI 39l HATA FR HAET FdDd ——

Options :

A Afgdr Hoardr

1. #

TAUTRTET 19 & 13

AT HATEL TIehl hrdr

4¢aqﬁmﬁwwﬁa?rfﬂla‘

Question Number : 48 Question Id : 7150535405 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ars fAdiselid —- =Y 3Taegehdr 314,

Options :

1. %



Haradr HAlfgdr

EGIER TG

qeH TSl

Question Number : 49 Question Id : 7150535406 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

araeTell —— AN A FgoTdid.
Options :
1, % CIPICHd
20 B
FIATcHE
3. %
4 x STCHTTIRTONCHE

Question Number : 50 Question Id : 7150535407 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



facreaear geiaeiel Rl Meeday Jélel Tour FgUls —— 3719 gl

Options :

Question Number : 51 Question Id : 7150535408 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Afaene decard @relid diel dacdid UehAlhIoT $hel Slid —-
Options:

9 Yshl{, 3dl Flﬂ?lT EIUT ECHES

1. %

e Faae, g9ed Faa-, 916 Fae=
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Question Number : 52 Question Id : 7150535409 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Options :

AT HAHsTHS

1. #

qUIhSe] 3T20hs
2. ® Ty Ty

Y
4. SIGIE St F Aledlchs

Question Number : 53 Question Id : 7150535410 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
FISICTEl 9igell T FGad HAFAACT o @ HIoT?

Options :

gT &7 3T9c¢

1. %

), % HAFURIE de
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Question Number : 54 Question Id : 7150535411 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘NeFprdiSar BT AT arFaarRrEr 32T 7

Options :

IMATfEEd FFEsa B eTEoT
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Question Number : 55 Question Id : 7150535412 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘HishsHdl AT FATHAGT ol o7 Hgd?



Options :
1 % s dIES

| IRfAG AEd

- HY HIAY HivTH

g AT AuTEer

Question Number : 56 Question Id : 7150535413 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
ferey ar erseram favey felal ereg wlurar?
Options :
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Question Number : 57 Question Id : 7150535414 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
@S el @a@d’ a1 37ATET FEOT qAATe e

Options :

LJEI’ITITQTHFHHTHEUT
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Question Number : 58 Question Id : 7150535415 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
feear o T G @ AT ACHS A@F FIOT I

Options :
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Question Number : 59 Question Id : 7150535416 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FUTHYY AT AscredT Taseyl 32ATar eeg, WieleTdehl HIUTAT g3 kel ?
Options :

skl O

Question Number : 60 Question Id : 7150535417 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

‘JeTgTT QAFTOT A=A 378



Options :
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- AT ATl T
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Language II English

SectionId:

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

715053162
3

Online
Mandatory
26

26

30

Yes

0

1
715053269
Yes

null



Question Id : 7150535418 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension

Read the following passage and answer the questions given. Choose the correct option

for each question.

Death 15 reported sumply numerically-ten killed, three mjured. These faceless, nameless
dead seem non-human. It fails to arouse any deep fecling of loss or pam. The disasters like
the Bhopal gas tragedy. blast in Mumbai make us withdraw psychologically and resign
ourselves to the tragedy. The riots in particular cities have left people helpless. that is, we
accepted death a reality to live with. If the reality seems threatening. the psychological
mechanism of denial 15 used: we say to ourselves it cannot happen in our city or to ourselves.
When tragedy strikes, the unconscious, sadistic and aggressive impulses are aroused in many
ndividuals. The gory details of tragic events are discussed clinically, news reports read and
compared. Many secretly relish such happenings and so discussions are held on them.
Though most will not consciously accept them, psychologists attribute such impulses to a
sense of irritation and depersonalisation which are common among city dwellers. This leaves

them immune to human sufferings.

Indifference to human suffering also stems from fear of law and the police. People shy
away from social responsibility due to the police and the law leaves people incapable of
being responsive to human misery. Fear of reprisals 1s another important reason why people
turn away from suffering. The attackers generally have helper of the victims as their targets

because they are out to destroy every trace of being 1dentified.

Sub questions

Question Number : 61 Question Id : 7150535419 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What happens to the individuals when tragedy strikes somewhere?



Options :

Many never relish such happenings.
1. %

Most will consciously accept them.

“ People will not shy away from social responsibility.

The unconscious. sadistic and aggressive impulses are aroused in many

4 individuals.

Question Number : 62 Question Id : 7150535420 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
What fails to arouse any deep feeling of loss or pain?
Options :

Numerical reportage of victory

Numerical reportage of death
2. ¥ )

Numerical reportage of psychological impulses

Numerical reportage of Individuals 1ssue



Question Number : 63 Question Id : 7150535421 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What 1s common among the people living 1n cities?
Options :

1 % 8 mechanism of non-denial

a deep feeling of loss or pan

a sense of wrritation and depersonalisation

reaction to human suffering

Question Number : 64 Question Id : 7150535422 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Why do people shy away from social responsibility?
Options :
due to their fear of law and the police

1. %

due to their busy life



due to their own mental suffering

due to their conscious acceptance of the events
4, %

Question Number : 65 Question Id : 7150535423 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify the word from the passage which means ‘retaliations’.
Options :

impulses

reprisals
2, v EEERRE

tragedies

disasters

Sub-Section Number : 2
Sub-Section Id : 715053270
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 7150535424 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The main source of his problems 1s his inability cope with stress.

Identify the appropriate preposition to complete the sentence.
Options :

of

for

4 % Ooff

Question Number : 67 Question Id : 7150535425 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The good news 1s that more o1l deposits being discovered in the east coast
region.

Choose the appropriate word to complete the sentence.
Options :

1 % 18

2 o are

where
3. ®



Were

Question Number : 68 Question Id : 7150535426 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The customer placed an order with list of items.
Identify the appropriate phrase/word to complete the sentence.
Options :

a exhaustive

> % the exhaustive

exhaustive

4. an exhaustive

Question Number : 69 Question Id : 7150535427 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The player practiced hard he could not perform well.
Choose the appropriate word to complete the sentence.

Options :

S50



but

if

011

Question Number : 70 Question Id : 7150535428 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Birds a feather flock together.

Choose the correct option to complete the sentence.
Options:

of
1. %

01l

3 % with

for

Question Number : 71 Question Id : 7150535429 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Choose the appropriate verb form to complete the sentences.
A: When did you complete your Post-graduation?

B:1 Post-graduation in 2021,

Options :

have completed

had completed

completed

was completed

Question Number : 72 Question Id : 7150535430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Walking 1s good health.

Choose the correct option to complete the sentence.

Options:

1 = of

for



1o

off

Question Number : 73 Question Id : 7150535431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify grammatically correct sentence.
Options :

The thief had been arrested by the police.
1. %

The thief had arrested by the police.
2 %

The thief have been arrested by the police.

The thief has arrested by the police.

Question Number : 74 Question Id : 7150535432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The man 1s suffering cancer.

Choose the correct word to complete the sentence.
Options :

1. = with

5 % off

from

of

Question Number : 75 Question Id : 7150535433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the sentence.

I for the past two days.
Options :

1 % reads

5 % reading

3 % read

4 have been reading



Question Number : 76 Question Id : 7150535434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the statements (a) and (b) and choose the right option.
(a) The reporter asked the actress, “When will you finish your movie?”

(b) The reporter asked the actress when she would finish her movie.

Options :

Only Sentence (a) 1s correct.

Only Sentence (b) 1s correct.

Both Sentences (a) and (b) are correct,

Both Sentences (a) and (b) are incorrect.

Question Number : 77 Question Id : 7150535435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

Iand Ramu are childhood friends.

A B = D



Options :

A

Question Number : 78 Question Id : 7150535436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct question tag to complete the following sentence.

She hardly walks after the accident.
Options:

doesn’t she?
1. ®

5 % don’tshe?

do she?

does she?



Question Number : 79 Question Id : 7150535437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Choose the correctly spelt word from the given options.
Options :

comifttee

comimites

comunittee
3.¢

4 % committe

Question Number : 80 Question Id : 7150535438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Dhont 1s many other players in the world.

Choose the correct option to complete the sentence,
Options :
the most successful than

1. %

more successful than
2.



more successful then

successiul than

Question Number : 81 Question Id : 7150535439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the appropriate word to complete the sentence.

The company was taken by the rival company.
Options :

up

1. #

oOVer

in

4 % Ooff

Question Number : 82 Question Id : 7150535440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Choose the correctly sequenced sentence.

been/ Ambassador/ has/ Sachin Tendulkar/ named the ICC Brand
Options :
Sachin Tendulkar has been named the ICC Brand Ambassador.

1.4

The ICC Brand Ambassador. Sachin Tendulkar has been named.

2 %

Sachin Tendulkar been named has the ICC Brand Ambassador.
3.

The ICC Brand Ambassador has been named Sachin Tendulkar.
4, %

Question Number : 83 Question Id : 7150535441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the one which is different in meaning.

Options :

Attend the meeting or else you will be fired.
1. %

5 If you attend the meeting. you will be fired.

Unless you attend the meeting. you will be fired.
3. %



If you do not attend the meeting. you will be fired.
4, %

Question Number : 84 Question Id : 7150535442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the most acceptable form of subscription in Letter Writing.

Options :
v Yours faithtully

1.

Your’s faithtully

Yours® faithfully
3. %

Your's faithful

Question Number : 85 Question Id : 7150535443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Pick the objective of teaching English at Secondary level.

Options:

Write creatively and independently on general topics.,



Follow the instructions given in the target language.

Recite the small poems.
3 %

Write simple meaningtul sentences correctly.

Question Number : 86 Question Id : 7150535444 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

This question 1s easy to frame but 1t 1s difficult to evaluate its answer.
Options :

Multiple Choice Question

1. %

Essay Type Question
2.9

Very Short Answer Type
3. %

Short Answer Type
4. ®

Question Number : 87 Question Id : 7150535445 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

These courses are intentionally designed to utilize both mn-person and online class time

to achieve effective student learning.

Options:

Online courses

Offline courses

Hybrid Courses
3.¢

Virtual courses

Question Number : 88 Question Id : 7150535446 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
*Appropriate headline’. This 1s a feature of the following discourse,

Options:

Choreography

Debate



News report
3.¢

& Speech

Question Number : 89 Question Id : 7150535447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘To get students acquainted with the lives and deeds of great men and women.” This

spectfic aim 15 achieved through teaching:

Options:
Letters
1.
5 Biographies

News articles

Fiction

Question Number : 90 Question Id : 7150535448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The following skills can be developed through mock mterviews

Options :

Reading and Writing

Speaking and Reading

Listening and Speaking

4. % Listening and Reading

SectionId:

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Mathematics

715053163
4

Online
Mandatory
30

30

30

Yes

0
1
715053271

Yes



Is Section Default? : null

Question Number : 91 Question Id : 7150535449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Three metal cubes with edges 9cm.12em and 15em respectively are melted

together and formed into a single cube, then the edge (in cm) of the resulting

cube 12

FegRA 9 B 12 e M0 15 o Rl Sl ol elqd e U fddod
ST 30T Ueh O] defdid, o] JRomeT gardt fhar (@ #722) 3md

Options :

Question Number : 92 Question Id : 7150535450 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a right angled AABC, right angle isat A, if tanB = 1,then sinBcosC =
Freehled AABC A, Flcdhled AdT 3Mg, o tan B =1 38, @ sin Beos C =

Options :



sl

1. %
B
vz

2_%-5
2

3.¢ 2

4. %

Question Number : 93 Question Id : 7150535451 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If A = {x: x is a two digit natural number such that the sum of its digits is 9}, then the

number of subsets of A 15

A ={x:x & o 3R AahiE e yud s dEE 98S 0) 3,
a0 A =41 39T & g
Options :

| x 256

N
—
[



1024

Question Number : 94 Question Id : 7150535452 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The product of the additive inverses of g and add the multiplicative inverse

_5 .
of - to the product, then the result s

-12 6 : A =5
— - T A8 SYGFAR VAR HOT IV Gk — ORI S,

qiumH

Options :

128

1.4 35

128

2. %

401
3 % 280

401
4 % 280

Question Number : 95 Question Id : 7150535453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



HCF of 1860 and 2024
1860 3T 2024 o HIET
Options :

1.#"4

[

11

]

Question Number : 96 Question Id : 7150535454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If0 < 6 = 90 ,then cot28 + cot* @ =

ST 0 < 8 < 90,d7 cot?8 + cot*s =
Options :

cot? 8 + cosec* g
1. %

5 % cosec* 8 + cosec? @

cosec? 8 — cosec* @
3. %



cosec* 8 — cosec? @
4, &

Question Number : 97 Question Id : 7150535455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If A = {x:x is an even natural number less than 30}.
B = {x: xis amultiple of 7 and 7 < x < 40}, then n(A — B) =
S A ={ x:x & 30 Ya7 F gH AafEiE TE 39,
B ={x:x 7 3001 7 < x < 40 ATIVIHR 31}, A n(A—B) =

Options:

Question Number : 98 Question Id : 7150535456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The mathematician who evolved the formulae for finding out the circumference

and area of a circle 13
ddoraT BT 0T &the Mvarars! T A Fomn afvaa sie
Options :

Euler

Arvabhata

HAHE

Archimedes

CIEIEE S

Question Number : 99 Question Id : 7150535457 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
logy 3 + log,, 0.0001 =

Options :



B |

[

Question Number : 100 Question Id : 7150535458 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two dice, one blue and one green are thrown at the same time, then the
probability that the sum of the two numbers appearing on the top of the dice 13
a prime number is

2ie B8, U ool 31701 U fGar Uehra dofl erdhell oirdll, dad wrarean e
feworar g et s & A A AT Heeadr

Options :

O b

3 % 18



Question Number : 101 Question Id : 7150535459 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A shopkeeper earns a profit of 73 by selling a book and incurs a loss of
25 paise per pen while selling old stock of pens. In a particular month
shopkeeper earns neither profit nor loss. If he sold 63 books, then the number

of pens he sold is

TGN T fadhed 73 U1 AT FHAGEA! 0T 9edl Sfell ol fashair Jid gt
25 49 dleT Hge FAl. T [T AT gEeRen o a6 [fod A AT
dlel. S e 63 Jeaeh faehell, o ol fderedr Jeiedn Yefar 3TTeRsT 3Tg

Options :

750

Question Number : 102 Question Id : 7150535460 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a garden, there are mango and orange trees. The number of mango trees is
3 more than twice the number of orange trees. If the number of mango trees is
108, then the number of orange trees is

qUIe UeT § MU Mg fiedrear s GEAr 108 4el a¥ WA S @
3§

Options :

L
L]

L
L

Question Number : 103 Question Id : 7150535461 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
One of the exterior angles of a triangle is 108" and the interior opposite angles to
it are in the ratio 5 : 4. then the ratio between the greatest and the smallest

angles of that triangle is
FplvTear aEd FliAd vh 1080 3 0T @R cd fawey FT 54 =

Options :



1.V

, x Died
, u DA
g% 23

Question Number : 104 Question Id : 7150535462 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose a correct statement related to natural numbers.

siafEie TRl dafua dvg @ as.
Options :

All prime natural numbers are odd.

o 9 A% AGEE T [Avd AR

Sum of two prime natural numbers is always even.

. O I A weard A A w .

All even natural numbers are composite numbers.

gd OF ~gfde gEar ar gfas g Hed.
3_23



The sum of two odd natural numbers and one even natural number 1s
alwaya even.

314,

Question Number : 105 Question Id : 7150535463 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If the curved surface area of a cone 13 204.1cm? and radius iz Sem, then the

vertical height of a cone (in cm ) is (Take 7 = 3.14)

S A @ JSHMI &l 204, lem? 38l 0T 2 Scm 3@l o 2l
3ol 3 (@) 39 (n=3.14 )

Options:

| » T

Question Number : 106 Question Id : 7150535464 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Choose an arithmetic progression from the following

WIoieTd<hl Udh HRaTold 9ardT f=asr

Options :

0.3,0.33,0.333. 03333, ...

1. %
14,44 -74,104, "
2. %
10 11
For—i—ds
3 3
3.¢¥
V4,/8,412,y16, _________
4. %

Question Number : 107 Question Id : 7150535465 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A circle with radius 18em 1s inscribed in a square, then the area of the square
(in em?) 1s
lSWﬁWﬁWH@EWWﬁW%.WWW{MHE
a3

Options:

1. 1296



Question Number : 108 Question Id : 7150535466 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A quadrilateral ABCD in which #BAD = £DBC = 90°,AB = 12 cm,BC = 20cm.,
CD = 25cm and AD = 9cm, then the area of the quadrilateral ABCD (in cm®) i

gadst ABCD #A¥d ,BAD=/DBC= 90°, AB = 12em, BC = 20cm, CD = 25em

P s |

0T AD = O9em, X gl ABCD ¥ &1A%d (cm? #edl) 38

Options :

| % 408

(=
[#4)
el
A

204

108

:Yes

Question Number : 109 Question Id : 7150535467 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The mean of all prime numbers between 40 and 70 1s

40 3for 70 #efiel §G Hod HEAT HET g
Options :

1 % 51.67

61

A
L]

Question Number : 110 Question Id : 7150535468 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The sum of the reciprocals of Vani's age (in years), 5 years ago and 7 years

. e A S 5 il :
from now 1s 7 If present age of Vani 1s ‘x” years, then this situation can be

represented in the quadratic equation as

A (a5 st T o 7 s e e
Hlg. o AU @i ag " a¥ 30, a @ feudr gfaura aHeona sl
cifdel o5 2ehd

Options :



x2—7x+44=0

’|_$’$

2 —Tx—44 =0
2. %

2 —11x—26=0
3_%-5

x24+11x—26 =10
4, %

Question Number : 111 Question Id : 7150535469 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The distance of the point P (12, 5) from the origin is (in units)

3cqeharget fdg P (12, 5) @ 3ia 37¢ (in units)

Options :

N

17



Question Number : 112 Question Id : 7150535470 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

4 men can do a piece of work in 52 days, then the number of days 13 men can
finish the same work 18
4 969 52 foa@id @G FF qUT FF ARdId. X 13 T6¥ dd A fhdl Rgard
quT & 2Aehcll.
Options :
20

1. %

16

[a—
]

3, *®

Question Number : 113 Question Id : 7150535471 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ChO{}SE‘ an incorrect statement related Lo sets.
Tl Gafag g fqure @,

Options :



Every set 12 a subset of itself.

9Icde HY g Tad-ar 3999 3TEAl

1. %

The set of letters in the English alphabet 1s a finite set.

- STl auTATeIdId 3T&IaT 9 g1 U Hdiflcd &9 3G,

The intersection of any two disjoint sets 1s a null set.

i} FIUTCATET alel faues Fardar Seeldg, gl qed §9 37l
3.

The set of integers which lie between 4 and 5 is an infinite set.

4wwmﬁ4mjmmmmmm.

Question Number : 114 Question Id : 7150535472 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An observer of height 1.5m is 15meters away from the foot of the tower, the
angle of elevation of the top of the tower is 45 from his eye, then the height
of the tower (in meters) is

1.5 #iex 9 flier elatear I 15 Hiet gy 3. elatear
SeiTaT el AT SIUMRET 45° g, o) eladdl 3t (sAewered) 3mg

Options :

16.5
1.



Question Number : 115 Question Id : 7150535473 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“A student was able to utilize the probability in his daily life”, then the

academic standard attained by the student is:
faearAs grcd Felel A&T0R AlTh 3Mg:

Options :

Reasoning and proof

de 30T garar

1. %

Communication

2. %

Connections

Ssoar

3. %



Visualization and representation

TeafieRgoT 3T giafeIfeca

Question Number : 116 Question Id : 7150535474 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The “Propositional Phase” is related to this learning approach of

mathematics:

“qEd@lcH® codr” Aforarear a1 fIeTor Jeprdel d«fed ame:
Options :

Collaborative learning approach

gl R Tl
1. %
Problem solving approach
THTIT OiSauardr TSIl
2. %
Concept mapping
3. %
Experiential learning
, xS fRreTor

Question Number : 117 Question Id : 7150535475 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following pairs related to “aids used in learning mathematies and
activities that can be done with them™.

"IUTd FRIFUarErd araedn ST g U carearEEd Sl AT
foramepema” off St @rellel Siisar ardr.

A)  Abacus: Addition and subtractions of decimals can be taught.
FHelehd: GITRITE a{ieT 30T Follerl [Isdeil S5 .

B) Grid paper: The area of a rectangle can be calculated.

firEg 99T 3maar &9%e Fedr A4

C) Fractions disc: It can be shown that as the value of the denominator
increases, the value of the fraction decreases.
HqUlieh Tehcll: HISTI Hed SIEe diad s Ui Hod Sl gid
& argadr Ad.

D) Cuisenaire Strips: Multiplication and divisions of large numbers can be

done.

ehehcll GECdr: HIGHT HEAET A0NHR 0T RN Ll A,

Choose the correct pairs/ answer:

A9 A3 HasT:
Options :
B & D only
|« PFAB&D
AB&C only
%d A, B& C
2. ¥
A, Cé& Donly
%Fd A.C& D
3. %



AB.C&D

Question Number : 118 Question Id : 7150535476 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Read the following statements related with teaching and learning plan:

A HI0T RIET0T Tateiel Gafera @reiel faue ar:

A) A teacher designs the lesson plans according to his ideas to organize the

teaching and learning experiences for the topic chozen.

faselcar [AYIrrdT fAhauard 3T Rwvar s eqdfeerd FogmEme!
fel&Teh Carea SeeieaN UEarear At TaN .

B) The year plan should be prepared at the end of the academic year.

eIf0Te auT=ar Qd¢T auar IREsT dUr .

ChODSE‘ the cOrrect answer.

A9 3T e
Options :

A 1s true and B 1= falze

A gcg g 3T B 3@ g
1. ¢

A 1s false and B 15 true

A 3GcT H1g 30T B @0 AR

Both A and B are false
A 377U B glegl @Wid 3Higd

3. %



Both A and B are true

37107 B gleg! §cd 3Mgd

4, ®

Question Number : 119 Question Id : 7150535477 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the words in the mathematics question paper that enable the
students to think and respond mathematically among the following:
AOTAar GReAufAadler 2eq 3@@r of fdearedier e afvamr faur

IO 30T 9fcHTe GUard Ham T
A)  Analyze

fareeiwor &
B)  Confirm
qecT
C) Proveit
ﬁilaﬂ T
D)  Give the reason
SIOT a1
ChGDSE‘ thE‘ correct answer.
A9 3T foAa=T:
Options:
A&k C Glll:v
BFd A& C
1. %
A, B& Donly

5 % Pad A B&D



B, C &Z D Dlﬂy
%ad B. C & D only

4w AB.C&D

Question Number : 120 Question Id : 7150535478 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following statements related with the mathematics curriculum:

aiforaren searasanel Gefea @eie faus arar:

A) The present mathematics text books of the School Education, Telangana

are written in topical approach.
eRToTEr Feard el fRgTor AT SreagEdd aEfE geudE
feifgerel 3ed.

B) Extensive learning of mathematical concepts and topies takes place in
the concentric approach.
JTUTCT Hehedel M0 fawaid faega RIEToT UhmEr Tfscahiand gid.
Choose the correct answer:

7y 3 fasr:
Options :

A 1z true and B 1s false

A e g 3nfor B 39T g

1. %

A 1= false and B 1z true

ZwammmBmm



Both A and B are false
A 371191 B glegr @i¢ 31gd

3. %

Both A and B are true

A 3797 B =gl HcT 3gd
4, %

Science

Section Id : 715053164
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Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
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Question Shuffling Allowed : Yes
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Question Number : 121 Question Id : 7150535479 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The period of revolution of the planet Venus 1z (approximately)

b AETAT FGTATor =1 remmael (3igret)
Options :
38 days

88 fgaw

1. %

[

L]
(=¥
]
-
]

|~

S
]
L

687 days

Question Number : 122 Question Id : 7150535480 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To find out the density of any liquid, we use

FIUICATET Tl O9dT ALTUATATS!, T arRar
Options:

Hydrometer

graEiHey

1. %



Barometer

z_waﬂﬁm

Odometer

3.3331‘@#3?

Hygrometer

g

4, %

Question Number : 123 Question Id : 7150535481 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The focal length of a lens suggested to a person with Hypermetropia 1s 75 cm. Find

the distance of near point.

FRITRACIHUT 3RTCIcAT edeFcilell Fadeledl dlewrdl ldhel oidl 75 Wl g, Sdoear
faier 3ic <fem.

Options :

375 em



15.75 em

18.75 AT
-18.75ecm
_18.75 QY

4. %

Question Number : 124 Question Id : 7150535482 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement among the following.

Options :

Newton's first law of motion apply to a single body.

wge=TdT AT 9fgell e Tehra RIRTeT oy gidl.

1. %
Newton's second law of motion apply to a single body.
S i e fead e IRIe ey gl
Newton's third law of motion apply to a single body.
wgeaAdn I faar e vera QIRer e gidl.
3.¥

Newton's third law of motion applies to an interaction between the two
bodies.

, e T R R S R SRERaIere i gl
4.



Question Number : 125 Question Id : 7150535483 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In series connection of resistors, which of the following remains eonstant in the

circuit?

e 4t FaeeAsd griedsr Fivg affeasd B uga?

Options :
Power

1. = ?
Current

5 v P

Electro motive force

ot Alfceg DI

Voltage

Question Number : 126 Question Id : 7150535484 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the correct pair of ore and its metal among the following

@relieldehl 3 0T carear arddl A Sisr 3ear

Options :

Epsom salt : Mg

| o T G Mg

Cinnabar : Zn

- B9Er : Zn

Haematite : Mn

- gHeEe  Mn

Rock zalt : Ca

4 % & #His :Ca

Question Number : 127 Question Id : 7150535485 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the values of ‘X" and *Y" in the following chemical reaction.
@reilel (sl TR X' 3101 'Y' & Hod iloar.
Na,CO; + X HCl - YNaCl + H,0 + CO,

Options :

X=1,%=1



Question Number : 128 Question Id : 7150535486 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The rate of diffusion of gaszes is

ar=AT SENET &Y 3T
Options :

higher than that of liquids or solids

v ad forar 9«7 geraideT Ig
’l...-

lower than that of liquids or solids

5 x d fohdl 91 JeridaT FA

higher than that of liquids and lower than that of solids

lower than that of liquids and higher than that of solids

L GATIET HHT 0T OeT TGrATIaT SIed



Question Number : 129 Question Id : 7150535487 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Rancidity 1s a/an
{ARATEEr &r v g

Options :

Precipitation reaction

. Toted gidfeear

Reduction reaction

He giafear

2. %
Oxidation reaction
BIEREN G R IGIE S

3. %
Neutralization reaction
derefor gfafear

4. %

Question Number : 130 Question Id : 7150535488 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Atomicity of Sulphur
HHTET TTAI]

Options :

Monoatomic

HAlelelH®

Diatomaic

 SeldES
2. %

Triatomie

CRICI S

3. %

Octatomic

HiFerH s

4. &

Question Number : 131 Question Id : 7150535489 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The maximum value of “I" for n=5
n=5dE “I" T FAT Hed

Options :



Question Number : 132 Question Id : 7150535490 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
How many electrons do Group III A elements lose to form stable ions?

e 111 A "o TR 3 dIOR Sograns! fohdl Seldel IHddia?

Options :

A

lad

Question Number : 133 Question Id : 7150535491 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



These blood cells move like amoeba to attack and destroy by engulfing the foreign

materials inside them, and are called ‘scavengers’.

A1 TRl STASTTATT gerdld AU caredn 3dedr SReell gereiiar dget carar

Options :

Erythrocytes

Monocytes

HArages

2. %

Lymphocytes

folrpraEsed

3. %

Eosinophils

SHIAAIT

4. %

Question Number : 134 Question Id : 7150535492 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the most forgetful animal
Hald faate qwit stear
Options :

Mousze

1% R



Cat

Rabbit

3. & W

Squirrel

o
4. &

Question Number : 135 Question Id : 7150535493 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Amoeba keeps on changing 1ts shape by protruding out 1ts body. These projections
that help 1t in 1ts locomotion are called

AT e R AT FGA TN HFR dgoid Tgal. AT TEIUIAr of AT
gIerareild #Agd Hdld odiel Furdid

Options:
Pseudopodia

TEMifEar

1.4 >

Tentacles



Fins

Question Number : 136 Question Id : 7150535494 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Nimbin, an alkaloid which 15 used as an Antiseptic is produced mn the seeds, bark

and leaves of

fifaet, v srewheliss of JfeRftcs U arRen Sal o f, @ T e
dar Bid.

Options :

Cinchona officinalis

Repler iRl

Papavar somniferum

qIE. TIfEAH

Azadirachta indica

5 o STECUE S

Datura stramonium

Iy ETAIETH

4, %



Question Number : 137 Question Id : 7150535495 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The type of reproductive process seen in Hydra 1=
A I I 3

g TCHUIRT Yotelsl Yishddl Yol 31

Options :
Regeneration
Jefaled

1.8 7
Fission

2. %

Fragmentation

3 %

Budding

4, &

Question Number : 138 Question Id : 7150535496 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



One of the following does not belong to classification of cell types suggested by
Woese

WrellerddhT U dlsH Fiell Faidetedn 92t FehRiear qafienonel Fafed =g
Options:
Monera

Al

1. %

the Archaea

3R
2. %
the Bacteria
3. % T
the Eukarya
o |
4. %

Question Number : 139 Question Id : 7150535497 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This vitamin helps bones and skin in remaining healthy

¢ Siiasiaca g2 30T caar TRiEl ugvag #Aga +a

Options :

Vitamin ‘I

Siidetdcd ‘D

1.9



Vitamin ‘E

5 % Siiderdca ‘E

Vitamin ‘A’

3 % Sildeidcd A

Vitamin ‘K’

4 % Staedcd K

Question Number : 140 Question Id : 7150535498 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The laziest of honeybees are

HEATRAT Faid 3T 3gd

Options :

Worker bees

1% IHITL HYHRAT

Queen bees

Toil FHerATAT
2. %

Drones



Nurse bees

AT HerATRAT

Question Number : 141 Question Id : 7150535499 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Unlike mitosis which 1s a continuous process for division in most of the cells,

melpsls occurs only
AR faulid, ot agad dRiFed s add aihar sed, A Sao
guad

Options :
1 blood cells
- TR

during the formation of gamates

Aacaear @AfFAGr g

in cancer cells

3 % enUameAT RfiEed

during cytokinesis phase of all cell divisions

o o el T arefEatay eoard

Question Number : 142 Question Id : 7150535500 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following causes peptic ulcers?

@reflerdehl FIUcaFe AMTed 3R giar?

Options :

Amoeba

o ITHET

Helicobacter pylori

golehleiaed IRIET

Leishmania

I IGE

Staphylococel

PR

Question Number : 143 Question Id : 7150535501 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Plants respire through

S 291g =drd

Options :



lungs

HHhy

S S

Gills
2. ® aTes

Stomata /Lenticels

Tufeifegeg

3. ¢

Xylem

_ oligeid
4. %

Question Number : 144 Question Id : 7150535502 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Reticulate /Web-like venation is seen in leaves of this plant.

AT FATTAAT TAHEY STOGR/SITETHRY w8 saaeds e Ad.

Options :

Sorghum

Paddy

, W



Jowar

Cucumber

4 TS

Question Number : 145 Question Id : 7150535503 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In this science teaching method, the students are encouraged to become explorers.

AT AT 3 ey el gt glograre! SicHligd @l .
Options:

Heuristic method

1.4 7 %

Demonstration method

grcdiais geed
2. %

Lecture method

5w SR GeEd

Lecture cum demonstration method

4w SATEA 8 Ficdiais Jeerd



Question Number : 146 Question Id : 7150535504 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following 15 INCORRECT when the measurements of angle of

mcidence and angle of reflection obtained are not equal while students conduct an

experiment to prove the laws of reflection of Light?

siegr faeamlt weremear wader o gy varrd! T Fard degr sfafear

3T

Options:

The experiment should be conducted a few more times so that the correct

results are obtained.

AT HTUTET gl dodT T FguTel T3 giond Hodie.

The teacher should complete the experiment.

2.¥

Reasons for poor experimental results should be discussed.

@Ud grafaes gfionAET FIReT 99 el g,

Precautions to be taken and factors should be i1dentified by the students.

Al Weagll A0 "o facaredi= siiode difgerd.
4. %

Question Number : 147 Question Id : 7150535505 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Psvchomotor domain 1s related to
AIhIAICT SiHeTR Hefed 3¢

Options :

Head
E{CD

1. #

Heart

Z.HW

Hand
3, v &d

Knowledge

4. %

Question Number : 148 Question Id : 7150535506 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One of the following represents theoretical knowledge

@reiierdshl teh Heyifas A g2iad
Options:

1.4



Concepts

Heheg=l

Direct gbservation

2. % A<

Instrumental gbservation

5 x 39ROT fETer

Question Number : 149 Question Id : 7150535507 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT a criteria for a successful project at school level

el TAUAdTd TET FehodrTol Wieileliel Ueh foehy ATl
Options :

1t should be relevant to the needs of the student

- o Tagre=ar ke gEIa IME

it should be rewarding to the student

o facareaien B s aifgsr

2. %



it can be expensive for getting best results

FaldHd TROTH ABAUAETST o HgEr 39 Ahd
3. ¢

1t should be practicable

4 % o cgag IEE

Question Number : 150 Question Id : 7150535508 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A science teacher has received hydrochloric acid. copper sulphate and magnesium
wire from the management for use in the science laboratory. The teacher should

make entry of these things in the

U faier RIGTRIeT faale JaRrRIed aTRUARIS! eqaeeyaehas g
U8, I Tothe HTUT HAARRA a7 9Iod el g, J2A [RIaTehien a1 ascrdr
Al Fdr

Options :

Breakable stock register

1ﬁaﬂﬂ?~rﬁ?’$1ﬁ'{m

Consumable stock register

5 IgAIT Feid Mereet

Permanent stock register

3$W¢r€ﬁrﬁm



Order stock register

4w 31T Tl et



